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* 1 irreducible components of dim¢ = 0, with total 41 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u*"*4+u+.--+u+1)

(i) Arc colorings

ay =
wd +ul +3ut+2u%+1
—ul0 — 248 — 3u8 — 4yt — 2

ul® 4+ 2013 + 6ul! + 8u? + 10u” + 8u® + 4u? >

—

a7 =

a3 = \ —y!7 — 3u!® — 73 — 124! — 130 — 1207 — 6u® + u

u294u27+~~+8u3+u)
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a2: u29+3u27+..._u3+u
—u?? = 3u? + .+ 22+ 1
ag = \u?* +4u?? 4+ ... — 6ut — 202
—u?? —3u?0 + .+ 2u? + 1
a6 = \u?* 4+ 4u?? + - — 6u* — 2u?
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u39 — 4438 — 20037 — 20u30 — 88u3® — 84u3* — 256133 — 240132 — 640u3! — 572030 —
1280122 — 1108u2® — 2208u?7 — 1808u20 — 3192u?® — 2484u2* — 3956u%® — 2856122 —
4076u?! — 2692020 — 3468u'? — 199618 — 22287 — 1004w 16 — 9244 1% — 1440 + 56013 +
304u'? 4+ 416u' + 344u!® + 35619 + 168u® + 128u” + 121’ — 20u* — 32u3 — 12u? — 12u— 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C5 utt = u
C2 utt +23u? - —3u—1

C3,C6,C7 e+ e+ —Tu 41
€4, Cy ut a1

cs, €10, C11 ut + 11wt = 3u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs Yy 23y o =3y — 1
Co gt 0yt 19y — 1
c3,Cq, C1 =41y . —5ly — 1
C4,Cy y" 11y =3y — 1
€8, C10, C11 y* +39y10 . — 11y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

= —0.273309 + 1.0073301

—6.20529 — 3.058131

—7.49814 + 3.807291

= —0.273309 — 1.0073301

—6.20529 + 3.058131

—7.49814 — 3.807291

= 0.253711 + 1.0219401

—10.01040 — 1.500351

—11.08025 — 0.350881

= 0.253711 — 1.0219401

—10.01040 + 1.500351

—11.08025 +- 0.350881

= 0.289765 + 1.0223501

—9.79545 + 7.793051

—10.43974 — 6.916221

= 0.289765 — 1.0223501

—9.79545 — 7.793051

—10.43974 4+ 6.916221

= —0.352546 + 0.8641501

—2.13456 — 4.948581

—7.01922 +9.443371

= —0.352546 — 0.8641501

—2.13456 + 4.948581

—7.01922 — 9.443371

= —0.132698 + 0.8687311

—3.36085 + 0.499471

—12.33273 — 0.132291

= —0.132698 — 0.8687311

—3.36085 — 0.499471

—12.33273 4- 0.132291

= —0.830272 + 0.7628181

—2.92978 — 2.505961

—5.15377 + 2.930901

= —0.830272 — 0.7628181

—2.92978 + 2.505961

—5.15377 — 2.930901

= 0.842291 + 0.7833141

1.03604 — 1.754191

—1.142381 + 0.3189261

= 0.842291 — 0.7833141

1.03604 + 1.754191

—1.142381 — 0.3189261

= —0.858015 + 0.7783641

—2.29038 + 6.576201

—4.18692 — 3.448551

—2.29038 — 6.576201

—4.18692 + 3.448551

= 0.756645 + 0.885386.1

1.40338 + 2.866511

—6.38250 — 2.833121

= 0.756645 — 0.8853861

1.40338 — 2.866511

—6.38250 + 2.833121

0.836690 + 0.8509061

5.01543 — 2.006421

—0.12467 + 3.319091

0.836690 — 0.850906.1

5.01543 + 2.006421

—0.12467 — 3.319091

= —0.823694 + 0.8760271

6.13950 — 2.344781

2.43085 + 2.905801

—0.823694 — 0.8760271

6.13950 + 2.344781

2.43085 — 2.905801

= 0.300266 + 0.7278401

—0.31190 + 1.388971

—2.22878 — 5.196491

= 0.300266 — 0.7278401

—0.31190 — 1.388971

—2.22878 + 5.196491

= —0.810647 + 0.9148941

6.01823 — 3.759691

2.08469 + 2.663271

= —0.810647 — 0.9148941

6.01823 + 3.759691

2.08469 — 2.663271

= 0.807712 4 0.9392871

4.74123 4 8.140271

—0.92451 — 8.457501

= 0.807712 — 0.9392871

4.74123 — 8.140271

—0.92451 + 8.457501

= —0.766003 + 0.9851301

—3.60687 — 3.466511

—6.32048 + 2.172141
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u = —0.858015 — 0.7783641
U
U
U
U
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U
U
U
U
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= —0.766003 — 0.9851301

—3.60687 + 3.466511

—6.32048 — 2.172141




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u= 0.779460 4 0.9818101

0.42502 + 7.809691

—2.24693 — 5.236641

u= 0.779460 — 0.9818101

0.42502 — 7.809691

—2.24693 + 5.236641

u = —0.784350 + 0.9909121

—2.94834 — 12.692001

—5.29244 4 8.243151

u = —0.784350 — 0.9909121

—2.94834 + 12.692001

—5.29244 — 8.243151

u=0.675007 + 0.0334621

—6.66197 — 4.524171

—4.64346 + 3.301021

u = 0.675007 — 0.0334621

—6.66197 + 4.524171

—4.64346 — 3.301021

u = —0.642653

—3.07852

—1.30900

u = 0.368440 4 0.5074451

0.258138 + 1.3151801

0.82726 — 5.556071

u = 0.368440 — 0.5074451

0.258138 — 1.3151801

0.82726 + 5.556071

u = —0.457128 4- 0.2461941

—0.38333 4 1.883641

—0.67137 — 3.864341

u = —0.457128 — 0.2461941

—0.38333 — 1.883641

—0.67137 + 3.864341




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1,Cs5 ut —ut e ut 1
C2 utt + 230 o~ 3u—1

€3, Cp, C7 ut ot 4~ Tt 1
C1, Co ut bl

€8, €10, C11 u™ + 110+ = 3u—1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs y* 4+ 23y"0 . 3y —1
o g 0yt 4 19y — 1
c3,Cg, C7 y*t =41y 4 —5ly — 1
C4,Cy yM 11y 0 4 3y —1
€8, €10, C11 y? +39y" - — 11y — 1




